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14. Balance the following redox reaction in acidic-solution:

aHzCzO++bMnO4- -+ CCOz + dMnz*

The ratio of coefficients d I ainthe balanced equati"y\

a)10tz b)7t3 c)2t10 />zts) e)5t2
a----/--

15. What is the volume of 0.810 M Ba(OH)z solution needed to titrate 25.0 mL of

1.500M H:P0+ to Produce Ba3(POa)2 ?

a) 79.2nL b) 92-2mL c) 52'0mL d) 61'8mL

\ V\( o irra-, : G q,l \. 8""-\ 3'-
\.G ?-

v: 6q..r
or o1- L

7
16. When excess NazSO+ solution was added to 20.0 mL of an unknown solution

containing ca'*ion, a.o372g of casoa precipitated. what is the @
concentrati;"fCi. itt tr," ,Lmown solution?

-=-===:;-
(Molar mass of CaSO+: 136"14 g/mol) C'4" * \lo ' o t

a) 1.36 x l0-2 b) 1.73 x 10-2 c) 2.10 x 10-2 d)2.47x10'2 e) 3'83 x 10-2
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6. The correct name of the comPound

a) Nitrogen(V) oxide.

c) Nitrogen Pentoxide.

e) Nitrogen(V) Pentoxide.

b) 6.656x10'" g

e) 3.346x1A" g

l

fi.tz+, 1o-"s
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d) 8.05 g 
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g. What is the empirical formula of a compound with the following

compositionby mass: C:52.2o/o; H: |3.0% and o: 34.8Yo?

Atomicmasses:C:D'U;H:1'008andO:16'00"

a) czHro @ c) c3H5o, d) czrr+o e) czHso

C* =- B?r1- t*a-\B.O c2* ju.a
15: u'5! A: \t.q n: q-'\8

NzOs'is:

b) Dinitrogen(V) Pentoxide'

@ oitti rogen Pentoxide.

FAa'"6(ti )=$ffi, t 5-lrLl

7. What is the mass of one sulfur atom ?

(Atomic maSS of sulfur : 32.06, Avogadro,s numb.er : 6.022x10,,)

a) 9.274x10-" g

d) 4.A37x10-23 g

6n'r \1or q Mvh )

(na'r'<-)

8. What is the ryrass 
of chlorine in i6'0 gCaCl2?

-'3(atomic masses: Cl: 35.45 and Ca:40'08)

a) 9.33 g b)6.77g c) 4"249

C*a- H-6 D c*':-H6 o



- 10. ) Buht"" the following equation:
\-\--l

b) 2lr c) rl4 d) rl2

The rat

@

.r^,

,4 ,'14.8 g of Li(s) $ias reacted with 16.2 gof NzG) aecording
L,: . ..,.',

to the equation: NzG) + 6 Li(s) + 2 Li3N(s)

If the actual yield is 16.4 g, what is the percent yield of this reaction

Atomic masses: Li = 6.942 andN : t4'0t '

a) 51.4 b) 28.6 ,$,9) d) 41'8 e) 7o'2

12. Which of the following compounds is insoluble in water?

' a) NarPO+ b) NlI4ClO4 c) KzCO: d) AgNO3

ari**ch of the fotlowing reactions is an acid-base reaction?

X a) Nacl(aq) + AgNo3(aq) -+ AgCl(s) + NNo{ad r f ftce

{D Nazcos(s) + zH:9}rq) -, H19(1).1-,,9pXsl *"?,{?S1,*,
rt : { {-r_ o. bi.tz.ri' ":- 

-{ , r4.:

@ri*gt#'tl^.-ffBl["o a 
;?""$'P+ 

(s) + 2NaoH(aq)

*ol 
_fn-G) + zoz$) -+ ZHzo(g) ,+, 

c,gr(g) lr.

v e) Cl2(g) + 2HI(g) ' 2HC1(g) + Iz(S) ,(

aBe2C + bH2O -+ cBe(OH)z + dCFI+

io of coeffrcients b / d in the balanced equation is:

e) 3/l

A12(Cq)3



Answer each of the following questions and put "X" on the correct choice on front

page.

,-1 {) -""-*V
@ Which of the followin{is an intensive properlry?

./t /

7!p energv b) weighi c) volume d) length

number of significant figures: 
x

H,..r= o,r? t(1.90-_0:01) x 2.5001 +15.0
(c2. qq I

a) 0.16s (a)o.n c) 0-16s0 d) 0'16s00
,\

r,ls.o31n t# * y":'^ = 1-O'd
hr 7a* r AIlg

3. The speed of a car is 46.0 mile/hr. what is its speed in fls?

(given: 1mile:1609 m)

\?

r{6

a) 14.3

The formula of manganese(Ill)

a) Mn2@O+): b) MnzPO4

@zo.o e) 103b) 16.1 c) 18.8

4.

1{
tv\n

phosphate is:

1@*ot

-"f, pa{bq

d) IYInPOT e) Mn3(PO4)3

5. For the isotoPe 11X. fnr number of protons and neutrons in that isotope are:

b) 41 and 93 c) 93 and 41 d) 93 and 52 e) 52 and 4t
O 4r and52

"fffi""i,ty

2. Carry out the following operation and report the result to the correct

e) 0.2
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